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(Only for Rough Work)



Rich sources of phosphorus in foods are :

(A) Meat and poultry
(B) Pulses and rice
(C) OQils

(D) Fruits

Which of the following is a
micronutrient ?

(A) Mg

(B) Ca

(C) Fe

(D) Na

Deficiency of which mineral leads to the
enlargement of thyroid gland ?

(A) Fluorine

(B) Sulphur

(C) lodine

(D) Copper

Anthocyanins are :
(A) Polyphenols
(B) Acids

(C) Aldehydes

(D) None of the above
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Rich source of Betalains is :

(A) Spinach
(B) Pokebenies
(C) Brinjal

(D) Banana

Flavonoid present in oranges and lemon

IS :

(A) Naringin
(B) Hesperidine
(C) Neral

(D) None of the above

Aroma of onion, garlic and cauliflower is
due to the presence of :

(A) Terpenoids

(B) Phenols

(C) Sulphur compounds

(D) Hesperidine

The characteristic odour of garlic is due

to:
(A) Allicin
(B) Naringin

(C) Lemonene
(D) None of the above

The compound responsible for the flavour
of apple is :

(A) Pentylacetate

(B) Octylacetate

(C) Pentylvalerate

(D) Methyl salicilate
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10.

11.

12.

13.
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The compound responsible for the flavour
of strawberries is :

(A) Ethylbutyrate

(B) Pentylacitate

(C) Octylacetate

(D) Pentylvalerate

Which food’s aroma can be reproduced
by the use of a large number of
compounds ?

(A) Chocolate

(B) Banana

(C) Almond

(D) Pineapple

Flavour of butter is due to :
(A) Alcohols

(B) Esters

(C) Aldehydes

(D) None of the above

Formation of bronen colour on the cut
surfaces of apple, banana and potatoes is

due to action of enzyme :

(A) Lactase
(B) Chlorophyllase

(C) Lipoxygenase

(D) Phenolase

(4)

14.

15.

16.

17.

Enzyme wused in cheese and beer

manufacture is :
(A) Lipase
(B) Protease
(C) Invertase

(D) None of the above

Enzymes that hydrolyze ester linkages in

glycerides are :
(A) Lipases
(B) Proteases
(C) Lymase

(D) None of the above

Lipoxygenases bring about the :

(A) Oxidation of ascorbic acid

(B) Oxidation of organic peroxide

(C) Oxidation of essential fatty acids
(D) Oxidation of glucose to gluconic

acid

Which of the following factors does not
favour the growth of microorganism ?

(A) Moisture

(B) Hydrogen ion concentration

(C) Oxidation-reduction potential

(D) None of the above
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18. The value of a, for dried fruits is in the

range of :

(A)
(B)
(©)
(D)

0.93-0.98
0.85-0.93
0.60-0.85
below 0.60

19. The water activity (a,,) is:

(A)
(B)

(©)
(D)

Water present in food

Amount of water needed for growth
of microorganism

Water of crystallization

All of the above

20. a,, value for sweetened condensed milk

is:
(A)
(B)
(©)
(D)

0.98 and above
0.93-0.98
0.85-0.93
0.60-0.85

21. Botulism is caused by bacteria :

(A)
(B)
(©)
(D)

Staphylococcus
Clostridium
Salmonella

None of the above

22. Staphylococcus aureus is responsible for :

(A)
(B)
(©)
(D)
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Food infection
Food intoxication
Both (A) and (B)

None of the above

(5)

23.

24,

25.

Which

Salmonellosis is due to :

(A) Gram positive-non spore forming
bacteria

(B) Gram  positive-spore  forming
bacteria

(C) Gram negative—non spore forming
bacteria

(D) Gram negative-spore  forming
bacteria

Leavening agents in food industry are :

(A) bleaching and maturing agents

(B)
(©)

moisture retention agents
used to produce light and fluffy
bakery goods

(D)

nutrient supplements

organism  of  Clostridium

is  responsible  for  botulism in

human ?

(A)
(B)

Type A,Band C
Type A, D and F
(C) TypeA BandE

(D) TypeC,DandE

Set-C



26. Foods involved in causing 30. Most bacteria, yeasts and moulds show a

Staphylococcus food poisoning is : )
growth optimum between :

(A) Custard and cream sauces
(B) Pickles (A) 5+15°C
(C) Juices (B) 16°-38°C

D) Completely cooked vegetables

27. Bacteria ‘Clostridium perfringens’
(D) 20°-42°C
release :
(A) Neurotoxin 31. In air blast freezing, food packages are

(B) Enterotoxin carried at a temperature of :

(C) Cytotoxin
(D) None of the above (A) 4°-10°C

28. During ‘Botulism’ disease, the bacteria o o
releases : (B) —4=4°C
(A) Neurotoxin
(C) (-10°)-(-22°C)
(B) Enterotoxin
. D) (-29°)-(-46°C
(C) Cytotoxin 0« H )

D) None of the above
() 32. ‘Explosive puffing’ is a process of

29. Diethyl pyrocarbonate is used as an drying -

antimicrobial food additive for :
(A) Milk (A) Vegetables
(B) Chocolate (B) Spices

(C) Fruit juices and carbonated .
(C) Cereals and grains

beverages

(D) None of the above (D) None of the above
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33.

34.

35.
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Additives which are used to presence
meat and give them desirable colour and
flavour are called as :

(A) Flavour enhancers

(B) Flour improvers

(C) Curing agents

(D) Emulsions

Food additives which retain moisture in
foods are called as :

(A) Humecants

(B) Leavening agents

(C) Emulsions

(D) None of the above

Aspartame, sucralose, and cyclamate are
used as :

(A) Anticaking agents

(B) Pigments

(C) Sweeteners

(D) Chelating agents

(7)

36.

37.

38.

39.

Which of the following is not used as
food preservative ?

(A) Sodium chloride

(B) Sugar

(C) Aceticacid

(D) Calcium chloride

‘Blanching’ is :

(A) Heat treatment
(B) Cold treatment
(C) Chill storage

(D) None of the above

Temperature range for chill storage is :
(A) 4°-8°C

(B) 1°-4°C

(C) (1°)-(-4°C)

(D) None of the above

The main source of carbohydrates in the
dietis:

(A) Pulses

(B) Starch and sugar

(C) Green vegetables

(D) Olive oil
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40.

41.

42.

43.
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Which of the following is also known as
“accessory nutrients” ?

(A) Vitamins

(B) Proteins

(C) Minerals

(D) All of the above

Acid used in food preservation includes :
(A) Sulphuric acid

(B) Hydrochloric acid

(C) Boric acid

(D) Benzoic acid

SO, cannot be used to preserve naturally
coloured juices because of its :

(A) characteristic flavour

(B) characteristic aroma

(C) bleaching action

(D) None of the above

Process of adding vitamins to milk is
known as :

(A) Sterilization

(B) Pasteurization

(C) Flavouring

(D) Fortification

(8)

44,

45.

46.

The removal of moisture from the food

materials for preservation is known

as:
(A) Heat processing
(B) Freezing

(C) Dehydration

(D) Chilling

Sausage is :

(A) asolution
(B) aprecipitate
(C) ahighly viscous liquid

(D) anemulsion

Which of the following preservatives

is not recommended in food

application ?

(A) Sorbic acid
(B) Vinegar

(C) Formaldehyde

(D) Benzoic acid
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47. Which of the following is true for nitrate
and nitrite for meat processing ?
(A) Increases juiciness
(B) Improves colour
(C) Increases tenderness
(D) None of the above
48. The time of heating at a temperature to
cause 90% reduction in count of viable
spores is called :
(A) Lethal rate
(B) Zvalue
(C) Dvalue
(D) Fvalue
49.  What is the strength of brine solution for
the canning of vegetables ?
(A)  40%
(B) 32%
C) 12%
(D) 2%
50. Lecithin is used as a/an :
(A) Anticaking agent
(B) Emulsifier
(C) Stabilizer
(D) Leavening agent
MSIC—-402 (9)

51.

52.

53.

54.

Insecticides are substances used to Kill :
(A) Insect

(B) Pest

(C) Herbs

(D) All of the above

Which one of the following is both
systemic and contact herbicides ?

(A) Glyphosate

(B) Triazine

(C) Fenec

(D) Atrazine

Which of the following is not a

pesticide ?
(A) BHC
(B) Aldrin
(C) DDT

(D) Ephedrine

Insecticides kill :

(A) Harmful insects

(B) Both harmful and useful insects
(C) Specific insects

(D) Only plant pest
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55. DDTis: 59. TEPPisal/an:

(A) Carbamate (A) Fumigant

(B) Organophosphate (B) Contact insecticide
(C) Stomach poison

(C) Organochlorine (D) Inorganic insecticide

(D) Triazine
60. CS,isa:
56. Pesticides generally attack : (A) Stomach poison
(A) Muscular system (B) Contact insecticide

(B) Respiratory system (C) Fumigant

© (D) None of the above
Nervous system

_ 61. Leadarsenateisa:
(D) Circulatory system

(A) Pesticide

57. The common mode of action of (B) Herbicide

herbicides is : (C) Insecticide

D) All of the above
(A) Blocking of xylem channels ()

(B) Blocking of phloem 62. Pyrethrine is found in :

(A) Neem plant

(C) Blocking of photosystem I

(B) Pyrethrum plant
D) Blocking of ph I
(D) ocking of photosystem (C) Coconut plant

58. Calcium arsenate is a : (D) Stem cell

(A) Stomach poison 63. Dinitrophenols is used as :

(B) Contact insecticide (A)  Insecticides

© Fum (B) Fungicides
umigant

(C) Both (A)and (B)

(D) None of the above (D) None of the above
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64. Chloral is used for the preparation of : 68. The formula of phosphorous oxychloride

(A) DDT is :

(B) BHC (A) PCl;
(C) Aldrin (B) POCI,
(D) Carbomate (C) PO,Cl,

65. How much number of benzene-derivative (D) POCI,
molecules are involved in the preparation 69. The compound ethyl maleate is used for
of DDT ? the preparation of :
(A) One (A) Parathion
(B) Two (B) Malathion
(C) Three (C) BHC
(D) Four (D) DDT

70. The hazards associated with pesticide
66. How much number of chlorine molecules

residues depend mainly on two factors :
is involved in the preparation of BHC ?
(A) Concentration of residues

(A) One (B) Concentration of level of residues
(B) Two (C) Toxicity to human or other life
(C) Three forms
(D) Four (D) Both (B)and (C)

67. TEPPis: 71.  Which type of agrochemical causing

(A) Tetra ethyl phosphat mutation or genes or cancer diseases ?
etra ethyl phosphate

(A) Herbicides
(B) Tetra ethyl phosphorous
(B) Pesticides

(C) Tetra ethyl pyrophosphate (C)  Insecticides

(D) Tetra ethyl polyphosphate (D) None of the above
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72. Sort the way which the general 76. Photochemical degradation of pesticides

population can be exposed to pesticides : is possible in :

(A) Vector control
(A) Rainy season
(B) Residues in the environment

(C) Residues in the food (B) Day time
(D) All of the above (C) Night
73. Action of herbicides is : (D) Moon light

(A) Plant sex cell killer
77. Physical, nerve, protoplasmic and

(B) A growth inhibitor

respiratory poison are the mode of action
(C) Plant growth regulators cum weed

Killer of:
(D) All of the above (A) Pesticides
74.  The name of DDE is : (B) Insecticides

A) Dinitrotriphenol
(A) Initrotripheno (C) Herbicides

(B) Dinitro dichloro ethane

(D) None of the above
(C) Dichloro diphenyl dichloroethane

(D) Dinitro tripheno acetic acid 78.  How much number of nitrogen molecules
75. Difference  between parathion and is involved in Atrazine ?
paraoxon is :
(A) Two
(A) sS=0
(B) Four
(B) N=O
(C) Six
(C) Oo=P
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79. The molecular formula of Atrazine 82. Which of the following is an

is: oligosaccharide ?

A) Glucose
(A) CgHy,CINg (A) Gl

(B) Fructose
(B) CgHy,CINs (C) Lactose

(D) Starch
(C) CgHigNs

83. Gelatinization occurs in ;

(D) CgHyCl
(A) Starch
80. Nimbidin is the constituent of : (B) Maltose
(C) Lactose
(A) Neem
(D) Glucose
(B) BHC . o
84. Which of the following is called as “fuel
(C) Seed of palm molecules” ?
(D) Seed of mustard oil (A) Lipids
(B) Proteins
81. Which of the following serve as an ideal (C) Vitamins
medium for transporting dissolved (D) Minerals
nutrients and wastes throughout the 85. The process in which fat in contact with
air, reacts with oxygen producin
body ? yo P g
products with undesirable flavour and
(A) Qi odour, is known as :
(B) Water (A) Oxidative rancidity

(C) Protein (B) Hydrolytic rancidity
ins

(C) Fermentation

(D)  None of the above (D) None of the above
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86. Which of the following is a fat soluble 90. ‘AGMARK’ is related to :

vitamin ? (A) Packaging

A A (B) Production

(B) B (C) Quality

(C) C (D) Processing

(D) Allof the above 91. Most suitable pH for the growth of most

87. ‘Pellagra’ disease is due to the deficiency food poisoning organism :

of : (A) 45
(A) Niacin (B) 4-6

(B) Thiamin (C) 5

(C) Biotin (D) Above 6

(D)  Folic acid 92. Red colour of meat is due to the pigment :

.. L (A) Haemoglobin
88. Deficiency of Vitamin E leads to :

(B) Myoglobin
(A) Lack of blood clotting
(C) Chloroplast

(B) Scurvy
(D) Anthocyanin

(C) Muscle and nerve damage

(D) Ricket 93.  Which of the following is a water soluble
ickets

vitamin that can be stored in the liver for

89. Full form of AGMARK is: many years ?

(A) Agricultural Certificate (A)  Vitamin K
(B) Agricultural Mark (B) Vitamin C
(C) Agricultural Marketing Act (C) Vitamin B-12
(D) None of the above (D) Vitamin A
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95.

96.

97.
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Salmonellosis involves :

(A) A cytotoxin and neurotoxin
(B) An enterotoxin and neurotoxin
(C) An enterotoxin and cytotoxin

(D) None of the above

Milk protein is called as :
(A) Casein

(B) Globulin

(C) Myosin

(D) None of the above

How many types of amino acids are
commonly found in proteins ?

(A) 15

(B) 20

(C) 25

(D) 30

The protein found in egg white is :

(A) Casein
(B)
€

(D)

Oxytocin
Ovalbumin

Keratin

(15)

98.

99.

100.

Which of the following food products are

high in protein content ?

(A) Tofu and eggs
(B) Green leafy vegetables
Rice

(©)

(D) Milk

Which of the following is not an essential

protein (amino acids) ?

(A) Tryptophan

Leucine

(B)

(®)

Tyrosine

(D) Lysine

The best source of vitamin K

is :
(A) Spinach
(B) Carrot
(C) Rice
(D) Egg
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10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

TeT-gRA®T H UA® WA & IR GRIad StR—
A,B,CTd D | Wiemdi & 89 9 fawedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
uiRa WM & araTmar o=d d8l W fear M
STR A <781 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 argeul
AaIgdd U foram S |

e T & SW Wendf w7 Red Bl
3T OMR Answer Sheet SUTE XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, TH-YRADET T 3 H, H-BR
& foru oy w@relt U1 W & fdan S ARy |

URIET-heT ¥ ANT-gab, Defdeicy, UoR a2l Heger

B o ST 9T SHBT SN AT Iroid 2 |

7 & Rl U9 Ul wUrRer § f=Tar 89 @l
T H I BT S BRI & = 2T |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o

2y
i3
E
oy,
a,
j
8



	MSIC-402-Cover C.pdf (p.1-3)
	MSIC-402-Set-C.pdf (p.4-16)

